Selection on Polygenetic Traits Activity
Drs. Vision and Quest have been studying a colony of Study-birds for several generations.  Graph their data and answer the following questions.
1. Study-birds have different tail feather lengths

· Graph generation one’s tail lengths below.  The tail length goes on the horizontal (x-axis) while the number of individuals goes on the vertical (y-axis)
	Tail Length
	# of birds

	0
	1

	1
	2

	2
	3

	3
	4

	4
	5

	5
	4

	6
	3

	7
	2

	8
	1


· Graph generation twelve’s tail lengths below.  The tail length goes on the horizontal (x-axis) while the number of individuals goes on the vertical (y-axis)

	Tail Length
	# of birds

	0
	3

	1
	4

	2
	2

	3
	0

	4
	0

	5
	1

	6
	3

	7
	4

	8
	2


· Describe how the tail lengths have changed between the two generations.
· What kind of selection has this population undergone?

2. Study-birds have different sized eggs.

· Graph generation one’s egg weight below.  The egg weight goes on the horizontal (x-axis) while the number of individuals goes on the vertical (y-axis)

	Egg Weight
	# of birds

	5
	2

	10
	3

	15
	4

	20
	5

	25
	5

	30
	4

	35
	3

	40
	2

	45
	1


· Graph generation twelve’s egg weight below.  The egg weight goes on the horizontal (x-axis) while the number of individuals goes on the vertical (y-axis)

	Egg Weight
	# of birds

	5
	0

	10
	0

	15
	1

	20
	3

	25
	5

	30
	3

	35
	1

	40
	0

	45
	0


· Describe how the egg weights have changed between the two generations.

· What kind of selection has this population undergone?
3. Study-birds have different sized beaks.

· Graph generation one’s beak length below.  The beak lengths goes on the horizontal (x-axis) while the number of individuals goes on the vertical (y-axis)

	Beak Length
	# of birds

	2
	1

	4
	2

	6
	3

	8
	4

	10
	5

	12
	4

	14
	3

	16
	2

	18
	1


· Graph generation twelve’s beak length below.  The beak length goes on the horizontal (x-axis) while the number of individuals goes on the vertical (y-axis)

	Beak length
	# of birds

	2
	3

	4
	4

	6
	5

	8
	3

	10
	2

	12
	0

	14
	0

	16
	0

	18
	0


· Describe how the beak length has changed between the two generations.

· What kind of selection has this population undergone?
4. Study-birds have different heights.

· Graph generation one’s height below.  The height goes on the horizontal (x-axis) while the number of individuals goes on the vertical (y-axis)

	Height
	# of birds

	5
	0

	10
	1

	15
	2

	20
	3

	25
	4

	30
	3

	35
	2

	40
	1

	45
	0


· Graph generation twelve’s height below.  The height goes on the horizontal (x-axis) while the number of individuals goes on the vertical (y-axis)

	Height
	# of birds

	5
	0

	10
	0

	15
	0

	20
	2

	25
	3

	30
	5

	35
	4

	40
	3

	45
	2


· Describe how the heights have changed between the two generations.

· What kind of selection has this population undergone?

